Find the line integral L zdx + xdy + ydz , where C is the triangle with vertices (3, 0, 0), (0, 0, 2),

(0, 6, 0) traversed in the given order. [99 'H [ 1% 6]

y=0
[ﬁf’é]EBG,O,O)ZﬁU(O,O,Z):{l z-2=x=3t,y=0,z=-2t+2 = dx=3dt, dy =0, dz = -2dt
3 =2

jc zdx + xdy + ydz = jlo[(—zt +2)(3dt) + 0+ 0] = (-3t* + 6t)‘? =3-6=-3

Xx=0
EE[(O,O,2)Z£IJ(O,6,O):{1_Z2:x—0,y—6t,z—2t+2:>dx—(),dy—6dt,dz—2dt
6 -2
[ zdx+xdy+ ydz= [ [0+0+6t(-2dt) + 0 +0] = 6t% . =6
z=0
FH(0, 6,0)£1(3,0,0): 1 X3 _ ¥ = x=-3t+3, y=6t,z=0= dx =-3dt, dy = 6dt, dz =0
3 6

jc zdx + xdy + ydz =jlo[0+(—3t+3)(6dt)+0]=(—9t2 +18t)\f =9-18=-9
IC zdx + xdy + ydz = _[C
=-3-6-9=-18

zdx + xdy + ydz + J'C zdx + xdy + ydz + IC zdx + xdy + ydz
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